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Organic Chemistry







   Nomenclature Quiz



Solution Set
1.    10     How many carbon atoms are in 2,3-dimethyloctane?

2.   neohexane   What is the common name for 2,2-dimethylbutane?

3    16      How many hydrogen atoms are in a single molecule of isoheptane?

4. Name the following structure (hydrogens are left off):

                              C         C                        3,4-diethyl-2,4,6-trimethylheptane
                               |           |     
                        C - C - C - C - C - C

                                     |     |

                                    C   C

                                     |     |

                                    C   C - C

                                           |

                                          C

5.  five   How many different isomers are there for hexane (not counting any cyclic structures)?


   (n-hexane, 2-methylpentane, 3-methylpentane, 2,3-dimethylbutane, and 2,2-dimethylbutane)
6.  Draw the skeleton structure (carbon atoms only) for the following compound: 

    3-methyl-5,6-diethyl-4-isopropyl-4-tert-butyldecane.

                       C
                        |

                   C-C-C    C-C                   
                        |          |

       C--C--C--C--C--C--C--C--C--C
                   |    |     |

                  C  C   C-C

                       / \

                     C  C

7.  9.5 / mole    How many moles of oxygen are involved in the complete combustion of hexane?












  (one mole)



2 C6H14  +   19 O2                       14 H2O   +     12 CO2
-2-

8.   isohexyl    What is the name for the following substituted group:

                       C - C - C - C - C -

                              |

                             C

9.     8            How many isomeric alkyl chlorides are there with the molecular formula: C5H11Cl ?  

( Do not include cyclic forms.)

10.  Give the substitutive (IUPAC) name for the following compound:

                    C - C - C - C - C

                           |     |     |

                          Cl  C   C

        2-chloro-3,4-dimethylpentane
11.  Draw the skeletal formula for:  4-chloro-6-(2-ethylbutyl)decane.

                       C--C--C--C--C--C--C--C--C--C
                                        |          |
                                       Cl       C--C--C--C

                                                        |
                                                       C--C 


 C

                                                                                                  |
12. Draw the skeletal structure of tert-butyl bromide.       C--C--Br
              






  |








 C

13.  F    Neopentyl iodide and t-butyl iodide are isomers of each other.

14.   F    If named properly, the structure 1,4-cyclohexadiene cannot exist.

15.   propene    What is the name for C = C - C ?

16.  Draw the structure for 2-methyl-1,3-butadiene.



C=C--C=C--C

                              |

                             C

-3-

17.     F   The following molecule shows the cis geometric arrangement:

                      Cl         C - C - C

                        \         /

                        C = C

                        /        \

                      Cl        C - C - C

18.    1-hexen-4-yne               What is the systematic name for a straight-chain, 6-carbon molecule that has a triple bond between the second and third carbon and a double bond between the fifth and sixth carbon?

19.   phenyl           When benzene is used as a substituted group, how is it named?

20.  Draw:   5 - phenyldodecane


                                              C--C--C--C--C--C--C--C--C--C--C--C



21.   alcohol      To what functional group does 3-pentanol belong?

22.    ketone      To what functional group does 3-pentanone belong?

23.    ester         To what functional group does isopropyl butyrate belong?

24.  Name the compound in question #17.

   1,1-dichloro-2-propyl-1-pentene

